B EER T2 101 2EBHEEG BHEFRE

1. [UE# O - ABC 1, OA, OB, OC MWEE, P BAE—2.

(1) & P % OBC, OAC, OAB W=ZHEEEA RIS 4, 5,6, K OP,

(2) # P % OA, OB, OC W=FE#S RIS 4, 5, 6, R OP.,

(3) OP %1 OA, OB 4515 45° /1 60° 5. Rk OP 1 OC KI5 A,

3 1 1

: WEM%%E@[ 2 i , PO [ f } (1) 3k P® (2) 5k P™ (3) K lim,,—0o P,
5 5 2

CHIEE Dy =1,

(1) AABC ZTEBEETERS T b, REHEOMERE T L.
(2) D=(-1,-1), ABCD BEZfW, H B, C EH—SRlEH T k. K B, C &

(2) AL, B ZfE,

5. <z, > FEBEF, v =3 AWE 22, = ei+203 122, K|

1
x1+1

(1) f(z) =vV-22+ 100 - 9+ V-22 + 682 — 256, K f(x) BWRAIE.

1 1
xo+1 oot x202+1]°

6. 40 AAEARE, ZAFEAN, BA—KRE, ELAR-A, BANEEER.

(1) HEEABEWA, ERENFRNFAZEER.
(2) HEEAERMABAEE—A, BRENRNHEGR.
(3) & (1), HEIB—UERARBEALR 10 F.

10 9 ... ...

1 10 9 ...

2 1
(K| 1

8 .. ... ...

9

(2) & = L3, 5K

..

9 28 .. L.

1 -

...... a8

......... 1 2
1




10.

f(x)=Crjan2+Cl a3+ .. .Clz+Cp, f(r) =0 BEMR, B 66<n<2012, K
TR LA B n 2 HEF,
(66 B NHEERIHTF?)

. BB f(r) BFER, B £(0)=1, f(1)=3, 81 [ (f'(«))" dv >4,

KRB ERH v, y, WE /55,5, /1y, 22 ERTEREANSZALS 66.

7 x+y

e lianger BICEIEEREENE, ~T$£@2012.05.19



